1/ Whichofthe following earthquakewaves | 1. 3%0 ARG 630 QA9M OAF 2NGAZ6R ; 3. Match the following : 86
are more destructive at the epicenter? 2R 86 @68 7 X g 3. BIAYe Q 6A°2 9 |
(@) Loess 1. River deposits (a) 6aNg 1. qal ageie
(A) Swaves (A) vQ eea () Moraines 2. Glacier (b) sqica 2. 2AQI2 G210
Wi
. cpesits (c) gsen 3. Qg Qg1
B (c) Gravels 3. Wind deposits e
B) Pwaves 8 eaer QARG AT s
i & “(d) SandandClay 4. Sea deposits
6916 :
Codes :
a) (&) (¢) (d
(©) Rwaves ©) g saa @ ® © @ (a)
4
Wi 3 3 4 R g
(D) Lwaves D) <8 cog ‘ @) 3 2 1 B) 3 2 1 4
© 4 1 38 2 (@) 4ggil 43 .42
@ 3 4 i1 2 @3 4 1 2
4 ST Which of the following terms were not AN 5 Sl !
(2. Jhumming cultivation is known as the terms of'August Offer - 1940'2 FANYS 6@Q UYL ‘UG dgIe 1940

‘Kuruwa’ in which region/state?

609 28R/QIRieR $G° GIa (Jhumming
cultivation) “Qq@” (Kuruwa) Qia6a
[aIgel |

(1 ANominated Indian Body would be

(August Offer - 1940) @ 218g9 g6< ?

(1) Qea6a 641G A6RINIG AAGIA AATL

formed after the War to frame the

Constitution QRIS G0K AIN RIS

(A) MadhyaPradesh

% 4(2) Dominion Status was not the (2) Qoeaide 8A%I QIGeQ ARG 96d
(GY) ﬂngm objective of India A
(B) «gaqas QRS adseca e
(B) An_dhraPradesh (3) More Indians representation in AIGIAS TR
Viceroy’s Executive Council
(B) 2iggsea { (4) 69184 g8 QQ6Q]l 9NNQ FOQ
i (4) AnAdvisory War Council was to be QAUAIRIARI
©) North-eastemRegion | established
; ; A) 263
©) eea-gé-amg 4 (A) 2and3 &
.
A il
| (D) Jharkhand | (B) 3and4 e
. i
™ D) <iogg i; (C) land2 i ©) 162
¢ : r (D) 1and4 (D) 1s4
CSP-1/C : ) i
CSP-1/C 3 [P.T.O.
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@ Which of the following statements are

not correct in respect of ‘Constituent
Assembly’?

(1) Elections to the Constituent
Assembly were held in July-August,
1946

(2) The Indian National Congress won
208 Seats

(3) Muslim League won 73 Seats
(4) Princely States won 93 Seats
(A) 1,2and3
(B) 2,3and4
(©) 1,3and4
(D) 1,2and4

Which of the following matchings are
not correct in respect of Schedules and
Subjects in Indian Constitution?

Schedules Subjects

) I Emoluments for
C &AG ofIndia

@) II Allocation of
Seats in Council
of States

3) v Administration
and Control of
Scheduled Areas

“4) X First Amendment
of Indian Constitution

(A) land2

(B) 2and3

(C) 2and4

(D) 3and4

. CSP-1/C

‘qAxiGe asi’ (Constituent Assembly)
0Gega1ER, A6AIS 694 AGQRR OR q6d ?

(1) @au@eas aie, 1946 gRIe-2986a
AGIeR 621888

(2) SI9818 618 @699, 2088 21ae
gogal

(3) qQ@aARaI738 ai9e seasl

(4) 9geie 28R 933 21Q% 85N

(Aa) 1,263

B) 2,364

(©) 1364

D) 1264

FIAYS 600 6AGIER NIRGTA AARUINA SIRR!
3 389 9R6g16R OR 62 2

(AAL] oh)

(1) I Q06 C6 AG &
6966

(2) I QIS OATAQFR6R
2198 Q98

3B) v 23906 68GgER6R
gelae 6 5a/E

4) X QURSIA AANIFQ GAN
QACARIR

(A) la2

(Bj 263

© 204

(D) 364

7.

Which of the following statements are
correct in respect of Electoral College
in India to elect President of India?

(1) Itconsists of Elected Members of
Legislative Assemblies of
National Capital Territory of
Delhi, and Union Territory of
Puducherry and were added to
Electoral College by 70"
Constitutional Amendment

(2) The number and values, of votes
are based on the population of
1971 Census of India as per 42
Constitutional Amendment

(3) 84" Constitutional Amendment
fixed the values of votes based on
current population Census 2011

(4) The entry of MLAs of NCT of
Delhi and Union Territory of
Puducherry came with effect from
June 1, 1993

(&) 2and3

(B) land4

(C) land2

(D) land3

CSP-1/C

Yo

QAR AIGAGS FLIOR UI0 RERERIAIR RERR
gaATER 6718 609 AYYER 0K 7

(1) «g6a 6224138 28R QPR G RS1H
QRURT 2B QIR FIICE SUARIR
2899 6 dAxel 7094 d°681uR
2QAIN1 QERERIAIN 6ARY A°6AIFS

(2) QAdga 4260 QeaRIS AFAIA1 A2
1971 999481 21IQE6Q 6RUSA A°SHYI G
Ry AQde

(3) <auifa 84 ea aeaiae, 2011
RRAESI 2RIAER ENTAS FAY FRI]E

(4) 1993, g1 1 Qe NCT 6 62413
AR QEEAR GRS 2AITAR

(A) 263
(B) 164
©) 162

(D) 163

[P.T.O.



\.

Which of the following statements are

correct in respect of the genesis of the

‘Doctrine of Basic Structure of

Constitution’?

(1) This doctrine was first propounded
by Supreme Court in Shankari
Prasad Vs Union of India Case

(2) In Sajjan Singh Vs State of
Rajasthan Case Supreme Court
held that Parliament could amend
any part of the Constitution

(3) InGolaknath Vs the State of Punjab
Case Supreme Court ruled that Art.
368 only lays down the procedure
to amend the Constitution but does
not give an absolute power to
Parliament to amend any part of the
Constitution

(4) In the case of Waman Rao Vs
Union of India Supreme Court set
aside the basic structure doctrine

(A) land3

(B) 2and3

(C) 2and4

(D) land4

Which Four Articles of Indian
Constitution among the below given
Articles were added to the Indian
Constitution by the 42 Constitutional
Amendment Act of 1976 2

(1) Art.24(A) (2) Art.28(A)
(3) Art.39(A) (4) Art.43(A)
(5) Art.46(A) (6) Art.48(A)
(7) Art.144(A) (8) Art.323(A)
(A) 1,3,5and7
(B) 3,4,6and7
(C) 2,5,7and8
D) 1,3,5and 8

CSP-1/C

8 )

8.

BeqIQ 6ad A9FER AAIFA 6T1RQ QI Ani

(Doctrine of Basic Structure of

Constitution) gaséa R ?

(1) <R a8, 9a6A Q6QIR RYIAINAS QIS
4601 gaIR RIA6] ANRIE AIARIER
QUIAINYRI

(2) Qesie fYIAIRA Q8RS A QRIA AIRQIS
QIRY AIAAIER A°AR, ARIIGA 6AEREA
2°9 Q°6d1RIR RAAINES 69 QD
6QRUER

(3) sslaeqiel 91N Q8IS QISY AIAAIER
Q6QIE RYIING QUG 62RYER 64, AR
368 6@ 609% QAL A*CHRIFA 44|
28, g Q°deq ARIAA 64 6163 2°6Q
Q6aIRIE AI9 94 FA6I FRAAIRKIT

(4) eAIR QUG QMIF 698 ARIA AIARNIER
Q6SIL FYIAIRA 6A1GR FOR ATISA AVIQ
QAeR

(A) 163

B) 263

(©) 204

(D) le4

26919 6QQ SITEAIT IS, NNGIG ARJUILR
4260 QRIS Qr6aRIS dIal 1976 211962
2849 621! 2

(1) uei24(A) (2) aei28(A)
(3) uRI39(A) 4) uie43 (A)
(5) auK46(A)  (6) o148 (A)
(7) w144 (A)  (8) el 323 (A)
A) 1,3,567

B) 3,4,667

©) 2,5,768

D) 1,3,568

=

10. Which of the following statements are

11.

not correct in respect of Union List of
Seventh Schedule of Indian Constitution?

(1) There are 100 subjects in the List

(2) This List signifies Co-operative
Federalism

(3) Thereare 15 subjects in the Union
List on which Parliament has an
exclusive power to levy Taxes

(4) The Supreme Court has no
jurisdiction over the matters in
Union List

(A) -land3
(B) land4
(C) 2and3
(D) 2and4

Which of the following are Non-
Constitutional Bodies in India?

(1) Tribunals

(2) National Investigation Agency

(3) Competition Commission of India

(4) Law Commissjon ofIndia

(5) National Commission for Scheduled
Tribes

(6) Comptroller and Auditor General
ofIndia

(A) 1,5and6

@) 2,3and4

(C) 3,5and6

(D) 2,4and5

CSP-1/C

10. @F6qI9 699 9FR, NSGD AL 49T

11.

Qo1 2RIA6R 693 SIARI 234191 O 6% ?
(1) e@e6a 100 ¢ Saa 2@
(2) ©RAQE anqia eaaQieg 4oIa

(3) segeideica 15 & ¥aa Jaa 28 QI
Qa6Q Q°A2 998 FASI IR6Q FRAUILY
CEL[EN

(4) 6egeRe Bag6a A6SIe YIAIea 6516d
2g68a QRaIae F

(a) 163
(B) lo4
() 263

(D) 264

FanaiQ 6Q9gER RAGEA AAQAIAUIT
aase ?

(1) Sxieq

(2) <©192QQRL A°gl

(3) sIeea gesaIasl eaae

(4) <10 2IeR «Fae

(5) 29996 eRRIeS QIeIa QAAR
(6) SUSER FARR B AACKHIRIY
(A) 1,566

®) 2,364

(C) 3,566

D) 2,465

[P.T.O.




B —— —_— A AR R L ol —————————]
@ Which of the following statements are | 12. qeals SISJESRESIRIRERARS!S enae 14.  Which of the following statements are | 14. SI96Q 26681694 6267AINS GG6JAIER 676
2:0( correct in respect of the Election aaega1ea 0K Q6 ? not correct in respect of Advocate 299G6R 0K §62 ?
ommission of India? General in India?
o ) ag . (1) 2S6RICRE 6IERAIN QIR ASIS I}
; ; (1) K327 @*Qeq [UIT QA8 GI9R €1) The Advocate General is the
(17) LX) SNl t'o S ETl egIa SAG) 6208 highest Law Officer of the State ZASis!
to make provision with respect to : :
elections to Legislatures (2) Heisappointed by the Governor on (2) esfyaLaa NIFCINAGsS aalnd
@) as 5300 GAQARAS 616 98 28G9 the advice of ChiefJustice of High 29QI6Q 6IF AINAIR BYS RaIB
(2) Besides Chief  Election chares g2a & aid 1990, eigaian Court L
Commissioner, two Additional 1 68 99 ealaIRgS (3) He should be eligible to be (3) 6Q QSRYIAIRAR SLIRAR 629IQ 6aIGY
E(;n;lrrr:tsts.noners \}rere appciunlt;g é’or ?jl:i?—;med as the Judge of a High (4) oica ea 65 edq 2ue 62I96ae
ime on January 1, S\ e ; -
(@) Gl Caii GO (4) He/She should not be more than 65 @A) 1o4
(3) The Election Commissioner 3AI08 QAR 9gARQY AAV2 *RA years of age.
Amendment Act 1990 made the (B) 284
. Ao . (A) land4
Election Commission a Multi- ~ 2 b
meml:;bo : 151 4 (4) @dieR <AGRER RARGR Q0aIAIRS @) 2and4 © 268
y Q200 681G 2RIISER 62192 @) D3
(4 The decisions in Election (D) 1and3 @) 163
Commission by the members are (A) 2,384
made by unanimous vote.
1 15. Which of the following statements are 15. 36019 684 R3QER A°ARER AR I
(A) 2,3and4 (B) ewee not correct in respect of Private Member Q0gIaR gATEa OR 62 ?
©) 1,304 Bill introduced in Parliament?
(B) lonly D . (3) APrivateMemberisany Member (1) esa imjmlm QQQY, ARRINNRR SIS
(©) 13and4 D) 1,263 of.ITarliamcm other than Member £Q6R162.2538
of Treasury Bench (2) <@ 99 QagIae G EAISKI 6819
D) 1,2and3 () The Bill of this nature are 6AINQINER 6RINAN
introduced and debated only on
: 3) Q26a 42l RAGIAR AN IQ AIAR 61T
13. Q'QQ6Q AIAGA AFATS, ALINECAIT 6298 - VG , & E.WQ QER -
" . o (3) It’s introduction in the House
The Imgeachm?nt of Indian President in e requires One Month notice 0) AR
ihelalisentise (DASeessasa (4) A Constitution Amendment Bill QISYANIEA QAR KAAIRAIER
B introduced either in Lok
1 Procedure may be intro
@A) Political Proc (B) ziesae gaal Sabha or Rajya Sabha (A) 364
(B) Legal Procedure (A) 3and4 B) 263
el - (C) 28-quae ggal (B) 2and3
(C) Quasi-judicial Procedure © land2 © 162
(D) None of these (D) &<l63c g6 (D) land3 D) 183
[P.T.O.
CSP-1/C 8 CSP -J\IC ‘
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Qy.

Which of the following statements are
correct in respect of Anti-Defection
Law?

(1) Anti-defection Law found place in
the Constitution by 52
Constitutional Amendment

(2) The Tenth Schedule of Indian
Constitution was inserted in the
Constitution in the year 1989

(3) The Anti-defection Law was
reinforced in the year 2002

(4)~ Ifany Member who is independently
elected joins any political party, he
is not disqualified

(A) 2and4

(B) land3

(C) land2

(D) 3and4

Which of the following statements are
correct in respect of ‘Special Sessions’
in Parliament ?

(1) The term Special Session of
Parliament is defined in Art. 85 of
Indian Constitution

(2) Art. 352 (8)(b) of Indian
Constitution speaks about Special
Sitting of the House of Parliament

(3) The proceedings of both the
Houses of Parliament in special
sessions would be limited

(4) If proclamation of Emergency is
issued when the Parliament is not
in Session, 1/3 of Lok Sabha and
1/3 of Rajya Sabha Members can
ask the President to convene a
Special Session of Parliament

(A) land2

(B) 2and3
(C) 2and4
(D) land3"

CSP-1/C
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16.

17.

Qaeee G6all AIBR JATER F6AIg cag

@3qee oR 7
(1)) QRAIFA 52 89 ACEIIGER @2 qag
el 218K GIR AIRARN

(2) 1989 68 QAUIA] @47 Q61 2agg
621028l

(3) 2002 68 QR-S98 S6RIT AR Q 2Ugd
Q9 Q9IaIRaR!

(4) 9% 616Q Q@Y QIR RIS FITg
6218269, 69 69 6Q163 QR6q Aifia
6269 618 AQQAYG| FINE 629QIF |

(A) 204
®) 163
©) 162
(D) 364

Q'AQQ QOR 2ERER FATEQ KIS 699

9396@ 0% 7

(1) «uesia QIR IRl 8568 <°aeq
QJOR 2ERARA A°R| Q2UIVIQE

(2) siee1a QAIGa IR 352 (8)(%) 62
Q'R YO ANECLARR QEQS 2T

(3) Q6% 2N69ARER A°ACR QNG ALFR
QIYIQe! QIFC |62

(4) @:QQ 269 KR 696F LT §]Q!
AP 6AIVEI @RILIN, 6S6Q ERNRARIQ
NQ QO191°8 B QIRYAKIQ 9@ QO1AI°E
QeQY QIgATY A°ALR QER ANEET
QIR IR @LaIes

(A) 1e2

(B) 263

©) 204

D) 163

)S/Which of the following statements are

19.

correct in respect of ‘Due process of
Law’ and ‘Procedure established by
Law’?

(I)  ‘Due Process of Law’ focuses on
the formal adherence to legal
procedures set by the Government

(I~ ‘Procedure established by Law’
emphasises the protection of
individuals Rights and faimess in
the application of Law and Legal
Proceedings

(A) Iis correct and II is not correct
(B) Il is correct and I is not correct
(C) BothIand]II are correct

(D) BothIand Il are not correct

Which one of the following is necessary
for Pressure Groups to be effective in
influencing Government Policy?

(4) Large number of Members
(B) Access tomedia outlets
(C) Money and Expertise

(D) Legalsupport

CSP-1/C

11

19.

18. 2zieee oa1d ggal (Due process of Law) G-

2197 @19l 96§¢ gaie1 (Procedure
established by Law) gaaea @65i9 6@a
23qee 0] ?

(I) 2ere 9218 984l ABRIAS UG FoFS
IO OPIa QR AZTINR QD62 FR]
@4

(1) ‘zee Q6! g8Je gaIR!’ AIIRRAIRSR
2100 8 YR 2I6RRR 68GER 6ATIREA
2NQIR 6 QREI] 98 @4 |

(A) loqellga
(B) Iokalqq
(C) esalalldR

(D) esalsllea

QaRIA! YRGS GEAITAIR 4FAUIG 6R4T
QIg6aIg! (Pressure Group) QIS 21984Q ?

(A) 2N HI! QY
(B) Qe€nRNa QR Q°6QIS
(C) 22 6 a3ge!

(D) 28849Q ARIAS!

[P.T.O.
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@D. Which of the following are correct?

Substantive Public Policies are those
which;

(1) plan and programme to get things
done

(2) allocate resources/services to
particular segments of larger
society

(3) directly distribute benefits or costs
for citizens

(4) impose restrictions on behaviours
(A) land4
(B) land2
©) 2only

(D) 3only

Which of the following policies provide

. aTaxreﬁmdonaJlorpanofapoor

family’s Social Security Tax?

(A) Temporary Assistance to needy
families

(B) Eamed Income Tax Credit
(©) Food Stamps

(D) Supplanenral Security Income

20. F6QIQ 6RRQER OR ?

21.

Q2108 AINERIR RIGQER G121, Il
(1) QIEYIgea A1 6QI8RI B QIdign

(2) Q288 QN8R 64IRIAIN Ane/cqq
CQITISR 4_q

(3) RIGALAINS QIR FRYINNIER QIS Q| a8
()

(4) 21906 QTR FERE QAIQQ
A) la4

B) 162

(C) seee 2

(D) eeee 3

R64I9 6966 69154 9ae adeiaa QInIEe
90816930 214 Q1 AQela Sea 6aaias) aI1d
Qg ?

(A) age ARRINGER AINIde aiac!
(B) 28¢ 21900 cga
©) siyaig

(D) 26a9 qém at\a

22. Which of the statements about Public

Policy are Correct? ‘A Public Policy
may be;

(B General or Specific
(2) Broad or Narrow
(3) Positive or Negative
(4) Rational or Irrational
(4) 1,2and4

(8) 2,3and4

(©) 1,2and3

(D) 1,3and4

@3. Which of the following statements are
correct in respect of ‘Distributive Public
‘ Policy’?
\
[ (1) It is also known as ‘Patronage
} Policy’
|
‘ (2) Itis meant for specific segments
‘ of Society
3) Itis concemned with regulation and
control of goods and services
(4) It requires little administrative
discretion
(A) 1,2and4
(B) 2,3and4
(©) 1,3and4
(D) -1,2and3
CSP-1/C

22.

23.

26919 699 34ER Q99T 716 9A6YH1ER
0R 7 6915 QISR 18 99 ?

(1) ariea <1 789

(2) geg <1 agee

(3) QAR A FAAAR
(4) <qSage QI eewR
(A) 1,264

(B) 2,3a4

(C) 1,263

(D) 1,364

36719 699 QIQPQ ‘AT *8e QG
Q369816Q 0K ?

(1) 21 n4 ‘'Qe6aIge /18" QUSS 98T
(2) <21 QAIea 3 6aIg1/ES Al aSF

(3) <R ANG! G 6QAAA AFVINRI B FA}EQ
ad ey

(4) a1 GBS gAIQRR 697 AINAYQ V€]
A) 1,264
(B) 2,3a4
©) 1,3a4

(D) 1,263

[P.T.O.



24. Which of the Articles of Indian

Constitution relating to Fundamental
Rights are not available to Foreigners in
India?

(A) Articles 14, 20, 21, 24 and 26
(B) Articles 21, 21(A), 23, 25 and 28
(C) Articles 14, 22, 25, 26 and 28

(D) Articles 15, 16, 19, 29 and 30

‘Which Four Amendments to Indian
Constitution given below are related to
Scheduled Castes and Scheduled Tribes
in India?

List of Amendments t
Constitution:

1, 8,19, 29, 46, 65, 95, 102
(A) 1,8,65,95

(B) 8,19,46,102

(C) 19,46, 65, 95

(D) 1,19,29,65 -

CSP-1/C 14

24, SIeGIA QRUIRA 6AIRR AYRIR ANV cog

25.

URIPER [IREER W6RAIAURST IR 3G Q6% ¢

(A) usi 14,20,21,24 626

B) ue12l,21(A), 23,25 628

(C) wial14,22,25,26 628

D) w15, 16,19, 29 @ 30

QUNGTIA ARIFA F6AIQ 691 SIREAIT A°6ANIIR
KGR AZYE |16 B YRS AN ?

QNG AAIFA A°CANR SRR

1, 8, 19, 29, 46, 65, 95, 102

A) 1,8,65,95

(B) 8,19, 46, 102

(©) 19,46, 65,95

(D) 1,19,29,65 -

@ Which of the following statements

are not correct in respect of ‘Right
to Privacy’?

(1) The Nine-Judge Constitutional
Bench that declared ‘Right to
Privacy’ as Fundamental Right
was headed by Justice J.S.
Khehar

(2) The Supreme Court of India
gave this historic judgement on
August 24,2018

(3) Justice J.S. Khehar was the
former 42" Chief Justice of
India

(4) He was appointed as Chief
Justice of India in the year 2017

(A) 2and3
(B) land2
(C) 2and4

(D) 3and4

27. Which of the following is not included
inArt. 19 of Indian Constitution?

(A) Freedom of Speechand Expression
(B) Freedom of Movement
(¢) Freedom from Detention

(D) Freedom of Association

CSP-1/C

15

26.

27.

‘4390 2ym9’ (Right to Privacy) aAasa

R6719 699 A9ER OR 6L ?

(1) ®4aqd 69.49.6921S 2UFGIEa 909
Q' 98zl QAR #6A10 ‘YJFY
2NRIQ" @ 671RQ 2N NEQ 6aIT4I
Q226

(2) 2018, 29§ 24 6a U999 Qase e
MIAING 92 AFUTR AU 6RAYERN

(3) UGS 69.99.689IQ VRS TP
MaIeaq 4296 4 32198

(4) sa QIaeq guiee1aas aI6? 20176
399 6RAYEA

(A) 263
(B) la2
(C) 264

(D) 3a64

3691 6965 NISSIA ARG 2UiAI 192 2889
qs< ?

(A) QIR QRIGSI B AULGRIE

(B) 21621981 QI1eS! (Freedom of
Movement)

(C) <1g Ques! (Freedom from
Detention)

(D) @A’ QeS| (Ereedom of
Association)

[P.T.O.




28" In which of the following years the 28. Geqle 6_Q AGLIER SI8Q%A Qg ‘Bqe

@ Read the following statement given below.

'Declaration of the Rights of the Child"

2RINEE 6AIVAIRIAI 2QENIRS 62192 9

30.

Land degradation in India happens at a

30. QI966Q 9gR AIgI6a @Fa 2984 AgR | IRIA

was passed by UNO? R e
(A) 1949

(A) 1949 .
®) 1951 (A) Inadequate soil conservation (A) eaqs 7ae @086 H4egIa ZSIe

measures

(B) 1951

(C) 1956 (©) 1B (B) Overgrazing (B) 2zoyNe 91048

e e (C) eea(A)9e (B)

and choose the correct alternative

Statement 1- Land degradation is caused

29.

2IR%e @99ee 9§ YI! A0 Jeg Aga
QQ |

Q3 | - 7801 99 8 82q46! 6414 87K 2984

(€) Both(A)and (B)

(D) None ofthe above

(D) <gEe FRIIQ 6998 6%

due to soil erosion and waterlogging acela 31. “Thereisahugelossofvaluablenutrients | 31. @iae6a qRucIe g8 6 adaeld A’ 88
and fertility in India”. What are the Q90 {0 | 9RIQ QIS8 - z
15?2
Statement 2- Deforestation is the major i S LeasonsSat!
cause of soil erosion 992 - 9Q /9 T 8%l A9R 994 QI8
(A) qeeIsa
(A) Soil erosion
) Both are correct (A) eea 0]
(B) efazesa
(B) Both are incorrect ®)lleanlen (B) Land degradation
(C) Statement 1 is correct and C) Waterlogging (€) seqde
statement 2 is incorrect (C) gaa @3 0] 6 3e1a a3 @ (
e ; D) <ig g8
(D) Statement 1 is incorrect and D) gaa 3 QR 6 Q619 @3 0] (D) AirPollution ®)
statement 2 is correct
CSP-1/C 16 CSP-1/C 17 [P.T.O.
( A ‘



32. Which of the following organization
collects every data on poverty inIndia?

- (A) MGNERGA
(B). NSSO
(C) SISRY

(D) None of these

Which of the following helps to measure
the Poverty Determination?

(A)' Poverty Gap Index

"(B) Head CountRatio
(C) SenIndex

(D) Allofthese |

34.

In India, which of the following
~ determines the wage policy?

(A) Productivity

. (B) CostofLiving

"': (@), "S_tax'xdard of Living

-l‘. (D) None of these

s
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32, 670690 AFIOR QISER QIAQY QAR Arg

33.

34,

cay a°ge Q6] ?

(A) <aedeezieed (MGNERGA)
(B) 9] 49 ¥q 6 (NSSO)

(C) 468992136 (SISRY)

(D) 6696 Q6L

P60 FAIYQ 694 RAIAT QAT FFAca ARiae
6218 ?

(A) <Iagy alEiey QeRIs
(B) qe9arl 2gaie
(€) 6aR qeris

(D) <ggge

REAIQ AMQ 6994 QI9e6R AIGgAe @16
(wage policy) 8da edeia ?

(A) eqieraiael
(B) e1e dioga qay
(©) s1eq digaq Ale

(D) 6636 ges

\
\

\
@./Which of the following three states in
India are considered the poorest?

(A) Bihar, Madhya Pradesh, Haryana
| (B) Jharkhand, Bihar, Uttar Pradesh
(C) AndhraPradesh, Jharkhand, Bihar

(D) Madhya Pradesh, Haryana,
Jharkhand

Consider the following statements about
Atal Bhujal Yojana

(1) Itisconceived to arrest the rampant
overuse of groundwater in India

(2) Itissupported by the World Bank

It is a sub-scheme under National
Groundwater Management
Improvement Scheme (NGMIS)

3)

‘ Select the correct statements

(A) 2and3
r : ®B) land3
(C) land2

(D) Allofthe above

CSP-1/C

35. QIeeq Ag0IQ FAQ QIgY VIR 694 FERIT

36.

QURY 620 928 ?

(A) <29, Auigeed, 2QaIR!
(B) <ieds, S92, 29a g6ed
(C) ziggeed, cIesi8, IRIQ

(D) qaygeeq, 22191, IISHS

‘2GR GO 64ISRI’ INREQ RIS ASFER
[0Q «a |

(1) 2R §6° 89 QYR 6.1kl aIT
R 6QI1e71 gge 62188

(2) <[RS QrIag! 919

(3) <1619 QER eR AICINRI IR QISR
ZNRER 2! IR AACAISR!

OR A8RYT ada ea |
A) 263
163

(B)

©) 162

. (D) SQERIQ AR

[P.T.O.



37. Which year is known as the year of’
demographic divide?

A) 1921
(B) 1920
(©) 1919

D) 1918

38. Consider the following statement (s)
related to the reasons for low sex ratio.

I  Highmaternal mortality
I.  Sexselective female abortions
II. Change in sex ratio at birth
V Code:
(A) OnlyI
B) I&II
(©) Io&nr

(D) LU&II

CSP-1/C 20
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37, cod ofd SRAMI QRAIA JRISR QF Qce
Q636 62102 P ‘

(A) 1921 ‘
(B) 1920
(©) 1919

(D) 1918

38. G@ 2QAIe QF 629IR QIRE ANGE] TF6AIg
ASYER J0I1q @a |

L 2yeag qgiee

II. &a 806 S8 eal gaeell
II. @g ANA6a Ad 2gaIe A3eea
6QIQ :

(A) eeeel

(B) IweIl

(C) Ilwe Il

(D) LII<erII

@ Consider the following statements
\ regarding an aquatic ecosystem :
|
|

(1) The shallow water zone around the
edge of the lake is the littoral zone.

(2) Limnetic zone is the open zone
where phytoplankton grows in

abundance

(3) Profundal zone is the dark zone
where the light cannot reach.

Which of the statements given above is/
are correct?

(A) 1only
(B) 2and3only
(C) 1and3only

(D) 1,2and3

40. Which climatic phenomenon is
characterized by cooler than normal sea
surface temperatures in the central
Pacific Ocean?

(A) LaNina
(B) ElNino
(C) Monsoon

.(P). Tomado

CSP-1/C
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39. oo 99698 Qg 67R REQIQ ASERa 91
QQ :

(1) 20 uIe6a Ze! QEIg FR6BY 6208
deaia 6ag (Littoral Zone)

(2) Limnetic Zone 626% 9688 6J€0I62
phytoplankton gga SI6Q eFaid

(3) Profundal Zone 6298 2@QIQ 639
6990I6Q 2I6QIQ ORERAN

R69IQ 694 ag/adgee OR ?
(A) eeee 1
(B) 629926 3
(C) eeeela 3

D) 1,263

40. 6eR1a gaI8 ARIAIGAEA 694 AIEAIN A5l
QARIKE QAIYTR SIAAIGI A16R «AAN ?

(A) «u@el(LaNina)
(B) v= sql (El Nino)
(C) sqgem

(D) aig’e &g (Tornado)

[P.T.O.




41.

42.

Which of the following Articles of the
Constitution of India refers to protection
and improvement of environment and
safeguarding of forests and wildlife?
(A) 39A

(B) 43A

(C) 48A

D) S1A

Which of the following are primary
pollutants?

(1) Carbonmonoxide (CO)
(2) Sulphuroxides (SO,)

(3) Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(5) CEC's
(6) Radioactive pollutants

Select the correct answer using the code
given below

(A) 1,2,3and 6 only
@) 1,2,4and 5 only

.(_C) 3,4,5and 6 only

(D) 1,2,3,4,5and6

.CSP-1/C

22

41.

42.

QIaG1a QAIRA F6AIY 689 AR QaeE g
Qaeda gesl 8103694 QI8 QI @ty |7

(A) 39A ;
(B) 43A :
(C) 48A ‘

D) SIA

F6qIQ 6°9Q0R QIaFe 9]8e8 ?
(1) Carbon monoxide (CO)
(2); Sulphur oxides(SO,)

(3) Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(5) CEC's
(6) Radioactive pollutants

7468 QAAINYR! 69IF VLRIQ 9@ O] 20
Qg |

(A) eeee1,2,366
(B) seee1,2,4065

(C) 6ee03,4,586

(D) 1,2,3,4,566

Consider the following statements:

(1) Meteorological Drought is based
on the impact of rainfall deficits on
the water supply.

(2) Socioeconomic Drought refers to
the impact of drought conditions on
supply and demand of economic
goods.

| Which of the statements given above is/
| are correct?

(A) 1only

(B) 2only

(C) Bothland2
(D) Neither I nor 2

With reference to cloud seeding,
consider the following statements:

(1) It is a weather modification
technique that improves a cloud’s
ability to produce rain or snow by
introducing tiny ice nuclei into
certain types of subfreezing clouds.

(2) Aluminum hydroxide is the most
common chemical used for cloud
seeding.

Select the correct statement using the
code given below:

(A) 1only
(B) 2only
(C) Both1and2
) (D) Neither 1 nor 2

CSP-1/C
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43.

44.

36719 RQgEea F9I19 A :

(1) o@aieee Age eREaIGiasa SdINIe
gele 8ae

2) aEe 6 ¢ A9F G AAFQ
621916l B Q12 2IAS

QU6aIg 629 99/9398@ 0K 7
(A) 6eee 1

(B) 6eee 2

(C) ssale2

(D) 18ni2, ceRged

caa <ieea (Cloud Seeding) 98Qa 29

AQYeeR I0IQ [Q:

(1) <219e AN QUISa 6F1ER IR 674
Qdl @QIeR JA6I QF QI §AdAIRIQ

16208 RAR 629 6816 QT ¥S G§
Q6R

(2) 2198799 2UKCLIRIAISE, 6Ad Q1
61T662 gL AUQAINT UK AR

24

F6I6Q T2IAINYRI 6RIF NERIQ @R A0K
Q8T QIT :

(A) seee 1
(B) seee 2
C) ssala2

(D) 12aI2, ceRqed

[P.T.O.




48. National Air Quality Index (AQI) is

Jaunched by the government to monitor
the quality of air in major urban centres
across the country on a real-time basis
and enhancing public awareness for
taking mitigative action. In this context,
consider the following statements:

(l_) AQI will have ‘one number, one

colour and one description’ to
inform the public about air quality
in a simple and easily
understandable format

(2) There are six AQI categories,
namely: good, satisfactory,
moderately polluted, poor, very
poor and severe

(3) The index considers eight
pollutants - PM10, PM2.5, NO,,
S0,,CO, O,,NH, and Pb

Which of the statements given above are
correct?

9)/ 2 and 3 only.
(B) 1and3only

(C) land2only

W) 1,2and3

CSP-1/C

45. qeQies QIal National Air Quality Index’

(AQI) gogI LAUAIR 6Q8Q Y AVRAIBIEQ
FEI3e ANDIFAIEa B QIg FRIVE B FRACTTHE!
Q8 @391 AAY R, IR 9ATER 7 KIYFIER
Q018 @Q |

(1) AQI ‘9Q @ayl, 9@ Q& 6 9@ ¢RI’

€7Q SGIQ QIQR AIR AR B AR
QER LIV AFAI T

(2) AQI Q63 3a, 2I: 6K, VSRR,
2g 9986, 91T, 2R AU G K1VE
QUQ

(3) .92 QIR 2106 geBER IIQ Q€A :

PM10, PM2.5,NO,, SO,, CO, 0, -

NH, & Pb

Q06QI9 6°4 R3FFR OR ?

(A) eeee263

(B) esee 163

(C) eqae 162

(D) 1,263

~ Which of the following best describes

: the term Deep ecologism?

(A) A philosophy that believes in
specific changes in daily lifestyle
of humans to minimize the damz;gc
to the environment

(B) A philosophy that believes that

humans should radically change
their relationship with nature

~(C) A set of sustainable practices to

increase fish production in shallow
ocean ecosystems

(D) None ofthe above

The ability of a population to increase

under ideal environmental conditions is
called

(A) Natality

(B) Carrying capacity

(C) Biotic potential

.~ (D) Absolute natality

25

46.

47.

'Deep Ecologism' g #6719 694 938 @87
SR QI K69 |

(A) <@ ede QIR TgIA A6 6IRRLR 919R
cdcica Reg gaear Adag 99sed
@ 86 QARIER AVIAG!I K6

(B) 4@ ode Qi2l 3414 Q61 A8¥, 93624
QAR I°ATER IR AAER AR 22

(C) ee4aIg AR 9A6LE6R AIR QIR
Q® QA9 2YIQ

(D) <96aIg 671636 262

2106 93694 29QIER RA"HI Q8 gaAId
Q6N Q'6 QX4 ?

(A) sgas (Natality)

(B) sqeried (Carrying capacity)

(C) &8 aiagy (Biotic potential)

(D) @qd £6as (Absolute natality)

[P.T.O.
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48.

49.

«(B)

‘Which disaster is most likely to be

influenced by climate change?
(A) Earthquakes

(B) Tsunamis

(@) Tropical cyclones

(D) Volcanic eruptions

Tidal waves are caused by which of the
following gravitational interactions?

(A) Sun’s gravitational impact on the
Moon

Earth’s gravitational impact on the
Moon

(C) Moon’s gravitational impact on the
Earth

(D) Earth’s gravitational impact on the
Sun

. A square shaped hole is punched in a

metal sheet whose linear thermal
expansion coefficientis 1 x 10~ per °C.
The size of the hole will decrease by
10%, when

(A) The sheet is heated by 10 °C

(B) The sheet is heated by 100 °C

(C) The sheet is cooled by 100 °C

(D) The sheet is cooled by 10 °C

48. 9eqIg 0GR RINER 689 QRAIQ 2R

49.

50.

6RIQeNa ?
(A) «afen
B) gaa1
(C) aigte eyl
(D) 21699 QRA1Q8

|
26919 629 AIRIS Gal 6QIF {212 98 29
(A) oR @06l QISR ARIGES gRIQ
(B) ¢ 2061 QIR ARISHE RIS
(C) gge1 Qg6a 92 @ AIGEa gaIQ

(D) Q44 @a6Q GYLIR ARIFEE 9GNS

R 2169 96 AI21R 63YR 61918 A°qaIQE
qae 1 x 107 gé °C ¢1096a ¥e 4IRIa
86 @QaI88 | 822 21918 10% 219 QI9S,
6Q6GERER -

(A) Q¢ 10 °C Q91 929 23
(B) Qg 100 °C QeI 98a g9
(C) Qe 100 °C Qa1 281 g4

(D) @< 10 °C QoI 28| 93

Which among the following has the Jeast
thermal conductivity?

(A) metal
(B) semiconductor

(C) superconductor

) alloy

Symbol of material used in conventional
glass thermometers is

(A) Mg
(B) Hg
(C) Me

(D) Mn

The temperature variation of land near
seais very less compared to that far from
sea. This is due to

(@) Sunray is not direct
(B) The sea absorbs the heat

(&) High heat capacity of humid air

=' (D) Heat is reflected by the sea

P-1/C
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52.

53.

76019 g codea Aeaq SIT1a O8R!
28 7

(A) ug

(B) azsadiat

(C) 26 age

(D) dgaig

ala'?éc QU0 2FIca6a MY AIAFIa 991
6298 -

(A) wqg (Mg)

(B) <se (He)

(C) wqaa (Me)

(D) <R (Mn)

QARROIY QB &]I GINT QERIER FeEER
291 gNISA SITAIGIA SIREAN LS &F | 1R
Qo4 -

(A) Qdidea geya gex

(B) QR eKI9Q cAISE *]ad

- (C) g QR 98 [|Ia SAS!

(D) SRIQ AYRAK! GET|E sVAKAN

[P.T.O.




54.

55.

Which of the following statements are
correct in respect of ‘New Criminal
Laws’ enacted by Indian Parliament?

(1) The new criminal law’ Bharatiya
Nyaya Sanhita’ came into effect
from April 1, 2023

(2) BharatiyaNagarik Suraksha Sanhita
replaced the Indian Penal Code

(3) Bharatiya Sakshya Adhiniyam
came into effect from July 1, 2024

(4) TheBharatiya Nyaya Sanhita was
passed by the parliament in
December, 2023

(A) land4
(B) 2and3
(©) 3and4
(D) 2and3

Pick up the wrong matching of Brand
Ambassadors for Government led
companies

(1) DiaMirza -  Swachh Saathi

(2) PV.Sindhu -  Pulse Polio

(3) Amitabh - City Compost
Bachchan Campaign

(4) Sachin - MakeinIndia
Tendulkar

&) 1and3

(B) 2and4

(C) 2and3

(D) 1and4
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54, Qlaee Qe QIalga1s 621088l ‘GeR aaj&m

SS.

angan’ (New Criminal Laws) 2gaian
26919 691 ABRYFER 0K ?

(1) «ge 1 c1dy 2023 Ad=I6R RER
AL AYFAA ‘RUSGIA YA L6’
QIYQIST 629

(2) <I9Q1A 6ARIN RIS, YIRER KRG
IR GR\| ARG AU 629

(3) 1 gaie2024 q KIee1a AI8Y 23709
QUAYRIRT 62R

(4) deanq 2023 6a NIGGIA WA ARG
Q°QAR6Q QIR 62N

(A) 164
(B) 2a63
(C) 364
(D) 263
dQRIQ1 AACIRE LAIR1 6886Q QR SIQ

2/1Qex (Brand Ambassadors) Q&< oae
Qa |

(1) <aael - Qg QiR

(2) a9Qg - aQQ 6916

(3) zfee eee - Q0 QMg QYIEN]
City Compost
Campaign

(4) QBe 69RARQ - 67K 8K |82
Make in India

(A) land3

(B) 2and4

ﬂ(C) 2and3
(D) land4

2V : B
! \ ]
- £ A

¢ Which of the following statements are

correctinrespect of ‘Earth Rotation Day’

- 20247

(07) The Earth Rotation Day is
celebrated on January 8* of every
year

‘() This day is dedicated to
acknowledging the discovery of
Earth’s shape

(3) This day is also celebrated to
acknowledge Earth’s natural beauty

(4) Honouring the discovery of our
Planet’s movement

(A) 2and4

'(B) land3

(C) 2and3

(D) land4

Which of the following statements are

not correct in respect of Sheik Hasina

Wazed, who resigned as Prime Minister

of Bangladesh on August 472024 ?

(¥) She was the Prime Minister of
Bangladesh for two decades

Q) The students protest against Job
Quota tumed into anti-government
agitation

(3) The Supreme Court of Bangladesh
gave a ruling of 30 per cent
reservation in jobs for descendents
of those who participated in 1971
Bangladesh Liberation Movement.

(4) Sheis the President of ‘Bangladesh
National Party’ supported by
Jamaat-e-Islami

(AY 1and3
(B) 2and3
(C) land2
(D) 2and4

56.

57.

29

‘Qae1 2ie8q @ea-2024 ‘Earth Rotation

Day’ a86ga16a 7699 6°a ASHFeR? 9218 7

(1) goed aigzial 8 oiawea gae! 298P
©eQ 9199 24

(2) qaee 21qE 21RAIa ATNEE 92 TP
QUAIQE 62I0T

(3) Qqaeia 9Iqee 6d1Rd4a QIGe AE2a4ER
Auy 4R @04 QIFe 62IQaId

(4) 21a gea af 2idala ANGEER IR @24
QARIe 2424

(A) 204
(B) 183
(©) 263
(D) la4

209 4 01% 2024 6q QIrQIERE quIeAg]
00Q 94T 62049 6849 AR GIESRE 6356
R6QIQ 699 ASRIQER OK 6L ?

(1) 6Q QR Q8% UQ QUI'NCER JaUISA]T
g6

(2) 919969 QA'AVA G TQ\EQ
SIGBIQIAIER SQER ORI IIRII-
IEQRIT AICRILARER AFES 62N

(3) eraices gg@a sis 1971 eraisea 98
2IERISRER [UNERAYRI AFIAIAIRS
Qaua A 913 68g6a @eee! 30
QA I0TE AIY IR FELERIA AWK

(4) €A1g-9-2ARIF AAE ‘AAEIA ASIA
QQ'] 6Q 62VEG ANTT

(A) 183
B) 263
(©) 162
(D) 2064

[P.T.O.



I\

The Paris-2024 Olymic Medals contain
metal from which iconic landmark?

(A) TheMontBlanc
(P) The Eiffel Tower
(C) TheArcde Triomphe

(P) The Pantheon

597 Which ofthe following statements are
correct in respect of ‘Olympic Flame’?

(1) The Olympic Flame is the symbol
of Unity, Sportivity, and Victory

(2) The Olympic Torchis lit in Greece
and passed from one to the next
torch bearer to reach the hosting

city.

(3) The2024 Olympic Torch was lit on
16" April, 2024

(4) The modemn Olympic Torch Relay
was conceived by Dr. Carl Diem of
Germany

(A) 2,3and4
B) 1,2and3
(C) 1,3and4

(D) AllFour
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58. @418Q-2024 298K 6ACIRYLQ 6Qd Q@
go1ea AIQ AIKE QIR ?

(A) < e Q< (The Mont Blanc) |

[
(B) < veaq «1@2 (The Eiffel Tower)
(C) <2k & g6 (The Arc de Triomphe)

(D) <aiga] (The Pantheon)

59. 20fiQ AGIQ 68gER F6AIQ 6° NBNYER
o] ?

(1) 298Q AGIR ERNT IQE!, 6HQAC QAUQ
G 99aQ go1e

(2) 2efie AAIN FIAER GRES 6RINAN 9"
42l 9ER0IQ JaSs! AAINMIRIS QIS
2160/86QIQ1 ARAEQ avBarg

(3) 16" g 2024 62 2024 207R AN
JRIe 62IRYN

(4) efiRa e QIR 8AS QN ARFe 29AQ
AR F6R ARQER QAIAIKYR

(A) 2,364
B) 1,263
©) 1,304

(D) ang cicaisale

‘ywhich of the following statements are
correct in respect of‘Rashtriya Vigyan
Puraskar’? B

(1) This Puraskar was instituted by
Government of India in the \'ez;r

i 2023

"(2) This award is given in four
categories

(3) Vigyan Team Puraskar is given to
five teams

(4) For the year 2024, in the field of
Space Science and Technology
“Vigyan Yuva Puraskar’ was given
to Four Scientists

(A) land3

(B) 2and4

(C) 2and3

(D) land2

61. Which Bank was included in the 2024
‘Fortune Global 500 List’ for the first
time?

(&) HDECBank
(B) State Bank OfIndia
(C) ICICIBank

(D) AxisBank

CSP-1/C
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60.

61.

‘Igia FRIT geaIa’ 6Ag6a FEAI9 626
A1994g6Q 0Q ?

(1) <2 geaR 198 aeQies lIal 2023
Ad2I6Q 939 LU

(2) <2 gexia 9I60IF d6a IR
ealIdILala

(3) QES §ag Q=R Tq gelIq gL
QQIAINAING

(4) a2@ia e 8 93T eagsa 2024
od aid 018 94 6IBFRG ‘TR g
Je’Ix’ geIe *alaml

(A) 163

(B) 264

C€) 263

(D) 1a2

2024 63 629 HIS TR 6Q1RIV-500 1!
(Fortune Global 500 List) 62 28gS
6XR 7

(A) <0 @ 9T QNS
(B) 6ac uIS 2o 82l
(C) 2180218321 VIS

(D) 98 IS



62.

63.

Which of the following statements are

correct in respect of Union Budget

2024-25?

(1) Total expenditure projected at
Rs.48.21 Lakh Crore

(2) Receipts excluding Borrowings
Rs. 32.07 Lakh Crore

(3) Fiscal Deficit projected at 6.8 %
of GDP

(4) Net Tax Receipts Rs. 34.83 Lakh
Crore

(A) land2
(B) 2and3
(C) land4
(D) 3and4

Which of the following statements are
correct in respect of ‘International
Everest Day’-2024?

(1) May 29" of every year is observed
as ‘International Everest Day’ in
memory of Tenzing Norgay

(2) This day was first observed by
Nepal in the year 2008 in
commemoration of Tenzing
Norgay who passed away on this

(3) Since its inception, this annual
observance has become a global
celebration of human endurance
resilience and the spirit of
exploration

(4) Edmund Hillary was a Swiss
National

(A) 2and4
(B) land2
(C) land3
(D) 3and4

CSP-1/C
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62.

63.

QRAR 9686, - 2024-25 al6gRI6R F6qIQ

699 ASYER 0K 7

(1) 6916 940 26eR 62aF 48.21 Q8 6915
oSl

(2) @& Sye10 QAgeia 91 adaia 32.07
Q8 6QI8 6

(3) 8.8.9.(GDP) @ 6.8 % zige Gae
(Fiscal Deficit)

(4) <oQ Qieq 913 34.83 o8 6l

A) 162

(B) 2a3

©C€) l1e4

(D) 3e4

aeellma 6R60q 9e2-2024 gagea 76019
6ed A8RIQeQ QaId ?

(1) 668 @6dS ¢ 66a goed 6a 29 6@
2BFIGIA N6R6SF T9Q AIFE 6IRaId

(2) 669" qed A4 @9 ¢ QIR 9GY6R,
QISR 9,662 gaen 2008 AdRIE] 1R
QQQ 67919 QIAI QIRS 6RIRgRI

(3) 4RIR gEYIRING ¥R TR AIRR ARSI
68dy, QoI B 26]86] I A6RITQ
RALEA 6L 62IRAIQT

(4) %8 RIR 62085 GRLRYIGa FIGER

(A) 264

(B) 162

(C) 163

(D) 364

64.

ol

As per the Data releaseq by Ministry of
Health and Family Welfare, which of .
following States in India topped the
country in Organ Donation in the year
2023?

(A) Kamataka
(B) Tamil Nadu
(C) Maharashtra
(D) Telangana

Which of the following statements are
correct in respect of ‘Goldman
Environmental Prize’?

(1) This Prize was established in the
year 1989 by American couple
Richard and Rhoda Goldman

(2) This Prize is awarded to honour
grassroots environmental leaders
of Global recognition

() Prafullah Samantara is awarded this
prize for the year 2024 from India

(4) This prize comprises ofa cash prize
of $5,00,000

(A) land2
(B) 2and3
(C) 2and4
(D) land4

6‘6/The name of the Artificial Intelligence

(AI) powered News Anchor developed by
the ‘India Today Group'is

(A) Sana
(B) Persana
(C) Baani
(D) Anania

CSP-1/C
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65.

66.

64. Qigy 8 aGea eavia Agaiea QIeI 99la

19gRl 62y agaia1 2023 62 QUAGA 6XF
@I8y 2@ei@ (Organ Donation) 68969
Qqieg 928 ?

(A) eqise

(B) edamig

©) a2ug

(D) sssaaiql

saIQenye adsea qgaxla (Goldman
Environmental Prize) sagsa 86919 696
ASYER 0] 7

(1) <2 geae 1989 ca 21603210 G9IS
B 62IQI CAINEAIR VARS QIaI 8T
QIR

(2) Qenea 99gQIa 9G694 9oaIRIS1 QT
VIQAIRS ARIRIET 4R Ye]U IR
CElAIEETR

(3) 2024 od aid SI9ea g AASAUT.
% QIR IR S]ITINT

(4) <R QeRIea 2d QI A3AIa 6298 5
Q4 SRIQ

(A) 162
(B) 2463
(©) 264
(D) 164

Q82 g6¢ 94 QIal 9Qde |8a g8asl (Al)
AEQ QRS TSR [IA

(A) Qi (Sana)

(B) aq@iql (Persana)
(C) <&t (Baani)
(D) 2esy (Anania)
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Which of the following statements are
Correct in respect of ‘Vantara’?

1. It is national initiative for
afforestation

2. This initiative was launched by
Reliance Industries and Reliance
Foundation

3. It is started in Green Belt of
Jamnagar Refinery Complex,
Haryana

4. Vantara also aspires to become a
leader in wildlife conservation

(A) land2
(B) 3and4
(C) 2and4
(D) 1and3

Which of the following statements are

correct in respect of ‘Alliance of Sahel

States’?

(1) It is a Confederation formed
between three countries namely
Mali, Niger and Burkina Faso

(2) Itoriginated as a Mutual Defence
Pact created on 15" November,
2021

(3) All the three member States are
former members of ‘the East
African Community’.

(4) The Confederation was established
on 6" July 2024

(A) land2
(B) 3and4
(C) 2and3
(D) land4

CSP-1/C \

67.

68.

‘orolall 0RCOAIER FEAIS 66 ASRIFER

0] ?

l.  QE6RIG6/SRINAE 68G6Q 4TI IR
QI619 aQ689 {

2. QRINRA 963K G FAINRA TIREEAT
QIal IR 9Q68a A 6XISAUN

3. QIeaa daieqiel @6as (Jamnagar
Refinery Complex) 28ai91a age
QLI6Q 12 AR SRAIAISE

4.  QRieq Q°84 6836R AGE! §ARI adIR
GaQl QIS 9REIAl A RS 2RIV AYE

(a) 162
(B) 364
(C) 264
(D) 183

q6ee aIsgeesa e6ne (Alliance of Sahel

States) adegm1eq G691 6QQ A8IYER

o ?

(1) AR, [I9Eeq 8 §RFI TI6Al RIAR &
6Q@9Q 60R IRl Q@ ASHR

(2) 15 qeana 2021 6a 92l 4@ AI9EQ
9688l g3 RIRER SRRIN QAR

(3) QF 21@e1a 6QIFIQ 92 67 AeQY QUG
62083 Q96e AQQy

(4) <2 Qemeq 6 gaia 2024 6o 98de
621928

(A) 162
(B) 3a4
© 263
(D) la4

When was Mahatma Gandhi declared
“Father of the Nation™

(A) 20" July 1946

(B) 12" August 1947
(C) 15™March 1948
(D) Never, officially

. India, as everyone knows, is a multi-

lingual country. People often know three
or more languages. In this context, which

. of the following statements is more

correct?

(A) In India about a quarter of the
population is bilingual; and about a
tenth is trilingual

. (B) InIndia about half the population

is bilingual; about one fifth is
trilingual.

(C) In India about a third of the
population is bilingual; about a
tenth is trilingual.

(D) InIndia about three fourths of the
population is bilingual and about a
halfis trilingual.

71. Bhatri, Bhuiya, Desia, are analogous to

P.  Bagri, Bhateali, Kahluri

Q. Chakma, Haijong, Rajbangsi
R.  Awadhi, Bagri, Bhagoria

S.  Gujrau, Pattani, Ponchi

(A) PandQbutnotRandS.

(B) QandRbutnotPandS

(C) Ronly

(D) P,Q,RandS
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69. ARIAAIRIq 6960 ‘FIGR ara’ 6QIR 6AIAd

70.

71.

QRIDIN2R

(A) 20geia 1946

(B) 122ag 1947

(€C) 15qie 1948

(D) 2199@Q SI6Q, 6962 6%

QURE, 691G~ QgNIBT 628 61R ANEY FIE3 |
SRAIGE ARIESE 57 1 AR AT AR

GQ8 | 92 aG6gaIsa A6AIg 69@ a3t O]
266 7

(A) SIS eRA°HIQ IR 6Q2I"E6AIR RRITT;
9Q° 4R QEAI'E §RIB1

(B) <186 8@ IR 914 21 {RUST; Q1A 4R
QBAI"a G

(C) QUee SRAWIQ 12 QO1AIa {RIST; 14
9@ QEAra IS

(D) Qe SFAWIQ @ ogdrd kg1 6
QIa 221 GRS

g1, 941, 6282 6°% gg AT AT ?
P. Q@1 QI6eR, el

Q. ©RAl, 2SS, ASTA1

R. 2@, Qigl, Qisaiqal

S.  QeQIR, acIk, 6l

(A) PaQ&yRaSged

(B) QaR&agPaSgse

(C) eee R

(D) P,QRGS

[P.T.O.
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72.  What was the Lahore Resolution (1940) | 72. «iceia ggie (1940) @'a gl ? 75 Thc‘f"s‘ m"dc”‘_j‘_‘fﬁcml courtinindia | 75, <der asne zumeka siasa gaa 2Ee
about? A presided over by Elijah Impey was set up IBR ARG 69V0IER FIAR FALIQFA! ?
(A) QERAIRAIRS QIS IR N9 AAYIR in
(A) A united homeland for Muslims @A) od
(B) &%e Qs aaing ande Murshidab: IS
(B) Supporting the British war effort LR hidabad
ol 4 (C) siatde geesaid aid (B) aes
(C) Demand for linguistic provinces (B) Patna
(D) «asag g (C) seieesl
Al
@>) 1 of the above (©) Kolkata
(D) e
(D) Dhaka
73. The demand for linguistic provinceswas | 73. Qi@ geed G08a @I Qa6A 696 I
first floated to ensure that 6RIQ2R
(A) People speaking a particular ) A AR A
= 695N 74g RIS @RS 6RIRAIRT IGE 68 The motto, “Yato dharmastato Javah” has )
language got recognition. gaie L L d(')— admmastaodayahithas 76. ‘asel udl gesl eat’ QUMIT QUIRQIAI gra
been adopted by =
(B) For bringing the administration e
(B) 6RIeAINS QIH6R 9AIARG ORBIRR!  Qahha afTndi-
closer to the people. (A) The Lok Sabha of India (A) si0sa caeas
(C) To promote linguistic division of (C) 91969 ATIRER FQIRGY 69IAILR 1 i
India. (B) The Rajya Sabha of India (B) «1eea aisdasl
(D) 626906a QY 8IA 9]
D) To reduce conflict within the (©) The Constituent Assembly of India (C) «uesa QrIGe a9l
country.
(D) The Supreme Court of India (D) e WA Nigiea
74. The British East India Company b Q'Q,“Q see@mq?ﬁ‘a Q? Seansaslivey
considered itself to be the paramount D EABI G GERC ] Y ) :
powerin India after ! i j}/ o an instiufuonal arrangementto | 77. Qmiq, QAIe G 8§Q ANIFQIIE] IR0 QLY.
(A) 1803 ea GRaIg aqIg @@ keep Science, Society and Industry on the _ NR QIR 4eg! 6918 RIAINE |
(A) Defeating Sindhia in 1803 same page” was said about
(B) 1809 6@ 0a862°2€ A2 QIFRIAI QIR y 1 (A) zeaes
(B) Signing atreaty with Ranjit Singh ea (A) ThellTs
in 18 3 50 o
io 1309 S A R TS (B) The Department of Science and (B) <cmie 8 63g0e IaIQ
I
(C) Defeating Bhonsale in 1818 © PERTQI0 Technology
(C) TIER
(D) Suppressing the uprising of 1857 (D) 1857 6a @6aiz @ae @@ (€) TheTIFR
(D) CSR
(D) TheCSIR
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78. Direct Action Day refers to

(A) Theday ear-marked by the Muslim
League for taking direct action to
assert their political demand for a
separate homeland for Muslims

(BY Theday ear-marked by the Indian
nationalists to oust the British
from India

(C) The day ear-marked by the
Scheduled Castes Federation to
protest against social injustice

(D) Alltheabove

p. One of the earliest mentions of
Bharat varshaisin

(A) The writings of Ptolemy

(B) Thewritings of Fa Hien

(C) The Hathigumpha inscription
(D) TheAjanta Caves

80. This place is known as the city of caves
(A) Ajanta
(B) Ellora
(©) Udayagiri
(D) Gharapuri
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78. QOIS QAGRQ QR6R 8’4 98I ?
(A) QQRAIRAIRS I QER QIAPIR ATCR
QARG QIS geYE QIdY @3el 6aQ
996 @eQ

(B) SI86Q S°688S 2619Q1 QIS KIRGIAR
QISIAGIRINAIRS QIRI §Fe &

(C) QaEe 2RYI0 IERUER AQQTe I
ARIAN QIAI BRe @eQ

(D) <osaig Qg

79. QISCIER QITINGA NLRIQ 69AYER 62I9T 7
(A) ceQfS 6Qdll
(B) oRaIeS sadl
(C) we1gsm 26

(D) azee QM

80. 624 2ER ‘IR ALY’ VIEL QI ?
(A) 289
(B) vsaial
(C) eeadd

(D) a9Q@

N

y“l(attaka caves” referred to, among others
P.  Hathigumphaand Ranigunmpha
Q. KumariParvata
R

Alakapurigumpha

©x

Mahendragarh

(A) P.QandRbut, notS
(B) PandSbut, notQandR
(C) PandQbut,notRand S

(D) P.Q,RandS

82. The Kalinga Prize is given for

(X) Achievements ofa scientist

(B) Achievements of a science
popularizer

(C) Achievements of a geologist

(D) Achievements of a mathematician

83. Theachievements of Pandit Gopabandhu
Das are in the field of

(A) Science
(B) Law
(© National Movement

(D) Alloftheabove

CSP-1/C

81.

82.

83.

‘QEQ QIR 24 62AAY ISIFAT 7
P. @619 @ Quaigm

Q. gael ase

R aeigat g5t

S.  feeRag

(A) P.QaR@g Sgse

(B) PaSag QGR gs<

(C) PaQ&q RaSgse

(D) P,Q,RaS

QLT QAU 6RRYAIR AN ?
(A) @66 sIRIRas 69

(B) 64 38IRQ 6RQda R[N HSICATS
Q6%

(C) ssa 9eq9es 959

(D) =66 qdess 89

SRR QA 62 CIGER O] GNEIF FTAER ?
(A) I[mie
(B) aee

(C) <SOI1a 21698

(D) <Q6RS Q9




84.

85.

86.
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Zero Casualty AtAny Cost (ZCAAC) is
aprinciple followed by

(A) The United Nations
(B) NAIO
(€) Government of Odisha

(D) SAARC

Porus is said to have gifted Alexander a
(A) box ofmangoes

M) diamond

(€) block of steel

(P) cotton shirt

The famous architect Bisu Moharana is
associated with

(A" SunTemple at Konark.
(B) TajMahal.
(C) Brihadeeswara Temple

(D) Rathas at Mahabalipuram

84.

85.

86.

caedlaa qaisa a8y aeae1eel (ZCAACQ)
Q15Q @4 gea 9a8s ?

(A) e eieaa
(B) 681 (NATO)
(C) Ggal QeI

(D) & (SAARC)

21609218105 9] 699 KAA 62QYER ?
(A) 21988 §%

(B) 24l

(C) quse

(D) geiQs

gas ag1/g9as &g ALIedl QI2l A2 A°qS ?
(A) eRa1ea 9LIARA

(B) cieaea

(C) <qeseqge adx

(D) aeeigans «

%

87.

88.

89.

‘At the end of the Civil Disobedience
Movement Gandhiji took out a padyatra
against untouchability. His first padyatra
was undertaken in 1934 in

(&) Nagpur
(B) Noakhali
(C) Jharsuguda

(®) Thanjavur

The infamous Rowlatt Act was opposed
by Indians because it provided for

§9% trying of sedition cases without a
jury and holding suspects in jail

without trial

(B) opposing the Indian national
movement

(C) hampering the economic growth of
India

(D) all ofthe above

Which of the following bauxite deposit
is considered as the largest one in India?

(A) Riasiand Poonch deposit (Jammu
& Kashmir)

(ﬁ) Panchpat mali deposit (Odisha)
(C) Gandhamardan deposit (Odisha)

(D) Balaghat deposits (Madhya
Pradesh)
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87.

88.

89.

ISR AR 2ICRILFR 68T6R A1, 286!
Q6216 9@ TeQIg *BER | |ISa AT
aeaigl 1934 €a 6240 6219Rl ?

(A) Q99
(B) gqaQ
(C) «iegqe!

(D) ei=Qe

ada agiee, a1ae (Rowlatt Act) @
QUAIAAIER 6LRZAIN 6 LQIER ?

(A) IR IR 62EERIR AIFNI B I IVIA6Q
QRS QIR

(B) sIee1a 1918 A°gIAQ a1
(C) [ueea 18R IRAGEQ QR

(D) <asag Q.

FA0Ye IRQAINE g1 AIRS] 68S NUASER
QLR VER IR QAIAN ?

(A) Q21Q 6 QR A'ge (SI] B Ig1Q)
(B) Qeae a0l a'ge (65al)
(C) asaice age (6881

(D) QRIAIC A°gR (A1ERA)

[P.T.O.
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92.

Which states share the Tungbhadra
Multipurpose project?

(A) AndhraPradesh and Kamataka
(B)
©
®)

Kamataka and M.P.
Odisha and Jharkhand
Tamil Nadu and Karnataka

Match List I with List II and select the
correct answer using the code given below
the lists:

ListI ListII

(a) Chinook 1. USA.
(b) Sirocco 2. Australia
(c) Brickfielder 3.  Europe
(d) Mistral 4. Africa
Codes : =

(@ @®) () @
Eg1 4t 20 3

@) 2 S|
©F 2 1 4
O 1 3 2

The only landlocked country in south-
east Asiais :

(&) Laos

(B) Thailand
(C) Vietnam
(D) Cambodia
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90.

91.

92.

QEIegl 9gAs! 9REQ 674 QISY Ia alRIs ?
(GBY)
(B)
©)
D)

2199624 6 QdIER]
QISR B AUGERA
634l 6 KIS

SIARRIQ 8 QEISe

cigel I ag ei@el 11 @ Q’6QIC @3 6 CIRRIQ
c62 QAAINYS! 6QIE QUK @R A0K A8
a8 @ |

siRel ] e 1T
(a) QR 1. QORI AN
(b) QsaisRl 2. 268l
(c) 8] @aea 3. gsald
(@) d’m 4. 213!
46@i¢ (Codes) :

@ @® © @
w1 & 2 3
(B) 23 A B |
@38 2 N &
@) 4 18 2

6eee @f@-gQ AR HARCRFE 698 6208
(GY)
(B)
©
(D)

QB
210919
BRI

Qe6AIG2

! A

93., Match List I with List II and select (e

94,

correct answer using the code given
below the Lists:

List I List I1

(Australian States) (Cities)

(a) Queensland 1. Adelaide

(b) SouthAustralia 2. Brisbane

(c) Victoria 3. Kalgoorlie

(d) Western Australia 4. Melbourne
5. Sydney

Codes :

(@ ®) (o) (@
Gy 2 8 4

@8 1 2%
@2 1 04

@y L8

o
v

Which one of the species is an example
of extinct species?

(A) Asiatic Cheetah
(B) BlackBuck
(C) Crocodile

(D) Indian Wild Ass
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93.

94.

ciaal Il a2 eidel [ @ arcaia @@ 8 SRS
Q62 22YINZQI 6RIS IR A 0] WA
09Q *Q |

eS| a1Ige 11

(26gRAANIF)  (ALQAYF)

(a) gegRue 1. 21629192

(b) <@azegRal 2. 3Q6SR

(c) QeI 3. Qega

(d) afqazegdal 4. eax6Iq
5. 369

c@ig (Codes) :

@ ®) (© @
™2 5 &4 i
@3 1 2 a4
© 2 1 & 3

D) 1

wn
8]
)

AONYE 9eIBE RIQ 699F QY 9RISa KRILed
268 ?

(A) NQER I8!
(B) qsaqa
(C) Qe

(D) «ues1a ey

[P.T.O.
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Which one of the following pair is not
correctly matched?

Month Position of Sun

(A) June Midday Sun overhead
at tropic of Cancer

(B) December Midday Sunoverhead
at  tropic  of
Capricorn

© March Midday Sun overhead
on Equator

P) September Midday Sunoverhead
on Arctic Circle

Which one of the following term
describes not only the physical space
occupied by an organism, but also its
functional role in the community of
organisms?

(A) Ecotone
(B) Ecological niche
(€ Habitat

(D) Homerange, . .

CSP-1/C
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95.

96.

776Q Q2AIRESI CAIFAIRE AUIER 6QWG 0]
6ARQ 6% ?

a q_sa'wc g%

AYRed 9 RLSIER
78 Qa6

&) K

(B) §eanQ AUFRQ 9LY ASERIER
Q8 996Q

©) a€ AUIGRQ QLY IGREQS!
Qa6Q

(D) 62692 AUYTLQ Qb 9eAq

182 QA6

SARYE AUYQ 6QEE 6TITY Q19 QIR 679R
AIR1BR 9RQ ANGER IR @61 FIF, ¥ 9198
Q°Q6Q 928 ALY AR FANG Al AR 964 |

(A) sesi6e1R (Ecotone)
(B) ssqisai@gia & (Ecological niche)
(C) aRiager

(D) qe adea

(( =

97. Inthe grasslands, trees do not replace the

98.

grasses as a part of an ecological
succession because of

(A) Insccts and fungi

(B) Limited sunlight and paucity of
nutrients

(C) Water limits and fire

(D) None of the above

With reference to the food chains in
ecosystems, which of the following
kinds of organism is / are known as
decomposer organism/organisms?

1. Virus
2. - Fungi
3. Bacteria

Select the correct answer using the codes
given below.

(A) lonly
(B) 2and3 only

(&) 1and3only

(D) 1;2and3 - °
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98.

Q69762 98 1A 9§ I 01896 23399
4Q 2°9 QI6Q 9RLER 96a AR QIEQ ~

(A) «ie 6 aa (Fungi)

(B) Qg 99i@a4 G 60192 6QQ AL

(C) ggecG2q

(D) 996QIg A 69UE 6L

a6l daq (Ecosystem) 6a €@y 44l
ZRIRER, FF6A QAAINYR VISAIRS AN
641G 2JAGR F1° NER Al ?

1. «eeq
2. @ (Fungi)
3. Q416R]aI

TE6Q 9N 6817 QYRR SR A0R WA 94AR
Q|

(A) seee 1

(B) seee263

(C) e=ee 163

(D) 1,263

[P.T.O.




99. Which one of the following is the
process involved in photosynthesis?

(A) Potential energy is released to
form free energy

. (B) Free energy is converted into
i potential energy and stored

(9 Food is oxidized to release carbon
dioxide and water

|

|

‘ (1) Oxygen is taken, and carbon
E dioxide and water vapour are given
‘ out

100. Consider the following :
_L~ Carbon dioxide
2.  Oxides of Nitrogen
3< Oxides of Sulphur

| Which of the above is/are the emission/
i 1 emissions from coal combustion at
thermal power plants?

(A) 1only
, (B) 2and3 only
(&) 1and3only

(D) 1,2and3
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99.

100.

T,

AAYE 989 AIRS AXYQ 699C T601A6adqg
2649 26S |

(A) @988 99 93 98 a9 24

(B) 99 48 QR 9969 ARG 24 @
A°QTC Q6L

(C) 2a@asIf 6 88 §66 @GIsa oy
UPGIAR A€

(D) 2GeIe 926 QUL N9 AGIQRIY 3
QFIARR QLI @AUAI

FARYe @ 91 !Q |

1. 2aQQIe,

2. QIREYIERR | AFIAS
3. Qa9q Q 2919e

QAEAIQ AYQ 699 AR AIGIRQ YILER 6RIRR
QRRQ T8 99 |

(A) eeee 1
(B) eee 263
(C) e 163

(D) 1,263




